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& BB LY B 17mm m 0.44
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D= 0.600 L
FEE 10.000 i 0.6 10.0 m? m
VGL ;%;
BRMEIR = W 6.000 6.000
T
0.6 1.291%10.0 m® m’
o £
EHI @ ﬁ{J
T 7.746 7.746
0.6X10.0X0.05 m® m’
AL 5%
b P jE
0.300 0.300

T




I

10. A6 L, ik LRtAEH

©
©

H_H A OE e g (%% & m & e WOE | &
No. 3 & I [ 17T J 0.6%0.100 X 10.0 m m[ - 0.6X10.0 m’ m’
E= 0.030 i prm
Fl1=  0.120 o 0.600 | 0.600 i 6.000|  6.000
F2= 0.100 T -
G= 0.850 -
ve T = H= 0.100 k5 (0.6%0.141-0.041°2 X 7 /4) m’ m’ % 0.6X10.0 m’ m’
RBET c = 0.041 B X 10.0 =
TREST & J= 0.100 w 0.833 0.833| 6.000[  6.000
4 K= 1.091 L
— © L= 1.200 ; 0.6X0.850 X 10.0 m* m’
< |#EE 10.000 %
B = T 5.100 5.100
- B~ JL55 He m’ m’
AL 5
i g |[LT4675.100X 11 2.085 2.085
T [EEwEE~Es m’ m’
5.100X 1.11 5.661 5.661
No. 4 [5LAREIRE S = 0.600 X 0.600 % 0.600 m’ m’ - 0.600 X 4 X 0.600 m’ m’
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% %
ma  |036270.154X 111 0.181 0.181 =
¢ L T+ BB~ RES~IS m’ m’ 0.154 | 0.154
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